Math 130. Hand In Monday: Name: __¢uoty &

These problems will be assigned again on Friday.

0. Work on WeBWorK set Day 25. Seven Problems. Due Sunday night.
1. a) [WeBWorK #2] In an animated cartoon, a box with a square base is “growing” so that its height is

increasing at 2 cm/s and its bottom edges are increasing at 3 cm /s. Determine how the volume of the box
is changing when the height is 8 cm and the edge length is 5 cm. Label each step as we did in class.
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b) How is the surface area of the box changing? Label each step as we did in class.
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2. a) [WeBWorK #4]

The bottom of a ladder is sliding away from a wall at 2 ft/s. The ladder is 13 £ tall. How
fast is the top o

f the ladder moving down the wall when the bottom of the 1
wall. Label each step as we did in class.
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b) If 6 is the angle between the ladder and the wall, how is

¢ changing at the same moment?Label each
step as we did in class.
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3. Page 228 #20. Similar to Classwork Example 5 on the other side
them for guidance).

triangle is changing.

(also done in the online notes—look at
Draw the triangle. Just do the first part: Determine how the height (altitude) of the

G 0\%_ 55D wan /k\/

£
. 4
Pk 6@? L stan Cars ek

s

¢ ’ 0 - \00'2
Relwhans  sualo’ = gy S

——

ps

(ake-\ (v | %%-: s\vv\o"-%%é = SwW0(s2) = 5. S i/l

4. Page 228 #26. Same ideas as in Classwork Example 1 (also done in online notes). Draw the triangle. You

know how the legs are changing, find how the hypotenuse is changing, in general. Then find how it is changing
at 1 second (you can determine the lengths of the legs at this time).
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5. Page 229 #34. Use the same ideas as the Classwork Example 3 kite problem (also in online notes).
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6. a) [WeBWorK #7] Gravel is being dumped from a conveyor belt at a rate of 50 cubic feet per minute. It forms a pile in
the shape of a right circular cone whose base diameter (

the same. How fast is the height of the pile increasing wh

circular cone with height h and radius of the base r is given by V = %Tzh. Hint: Write the volume in terms of the
height only by using the relation between the height and the radius.
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b) XC: How is the lateral surface area of the cone changing at the same moment? (See inside cover of text for formula.)
(Staple a new page.)



